BEESREEEANTUYIZERLTVLET DT

AHICENTVET,
BAZ FOE- 115 - HAOHERE - &fEEREetc.
KEDMEIXS45CTT,

50-60+75+90+100mm

— g —»

CHAGRPUVIBIORETT.  ©

B@d—K | X |a(e)|b(elc(e)) d | e | 8 | h

EA9B6RB-1| 507 | 50 |39 | 8 |10 18] 4 | 3 |

EA9B6RB-2| 607 | 60 | 48 | 10 | 11 | 20 [4.5[35

EA986RB-3| 767 | 75 | 59|13 |16 25| 5 4

EBBRB—fi 0% (90| 7213|1727 | 5 4

EA986RB-5 | 1007 [ 100 80 [ 16 [ 19 [ 30 |55 4

EA9B6RB-G | 1107 |110| 85 | 16 | 24 [ 36| 6 | 4

EA986RB-7 | 130% | 130 105| 16 | 24 [ 42 | 9 | 8

EA986RB8 | 1507 | 150 | 118] 19 | 31 | 52 [105] 9

) EA986RB-9 | 2007 | 200168 19 | 31 | 52 [10.5] 9

|——G — { Y4 ZlEmTY,

110-130- 150 - 200mm
@RIk |91z AlB|c|D|E|F|G|H|I[J]|k[L[m|[N]|O]|S |#E|~ruyy| BEE
EA986RB-1 | 507 11088 | 38 |50 | 49 |54 [26 |18 3 |10 | 4 [41 | 10|41 {70 |40 |2.67| #6082Z | 200ke
EA9BGRB-2 | 607|120 98 [ 48 | 60 |59 | 65 |28 |20 (35|10 |45 41| 11|51 |82 [46 |  |#62002Z) 300k
EA9B6RB-3 | 757 | 150|128 | 59 | 75 | 72 | 80 |33 | 25| 4 | 10| 5 |48 |12 |61 92 [62 |~ [#620222| 500ke
EA986RB-4 | 907 [180{146| 72 | 90 | 91 [100{ 38 |27 | 4 [14 | 5 |53 |14 |76 [114] 75 #6302ZZ| 700kg
EA986RB-5 |100%|220[176| 80 [100[100{110{42 [ 30 | 4 |14 55|66 | 16 |85 [140(84
4% |#63032Z | 1000kg
EA986RB-6 | 1107180 130| 85 |110/107|120( 52 |36 | 4 |14 |6 |77 |24 |90 | — | 47
EAOB6RB-7 |1307|250 185 105|130 (12713956 (42 | 8 (16| 9 |81 (38 (110] — |89 #0E22 | 1800ke
EA9BORB-8 |1507 300230118150 159|175 | 74 | 52 | 9 | 20 |105/103) 67 |147| — |120|  |st6a052Z|2000Ke
4 -'"m

EA986RB-9 |200%|300 |230 |168[200] 188 [215] 74 [ 52 | 9 | 20 105|103 | 67 [147] - |120 @7) | 2300kg

Y4 XldmTYT,




